CBEEQLNrS )EEV# SEAErE DCN No. DESGF;EIPTIgN ﬂoa J%H%ﬁ APF&Dﬂ. rorg.
( "ON ONIMVHO)LBER 47
18
+*0. 4
$4-40 3.75
\ (NOTE2)
>
ot
[
m mlZ
+ N Lf:t - _ — | | W N
~ o4 oW "
a _
m
1 <
#ﬁ / (@]
@ NOTE1 ] % ~
\_
% + .
+*1
16
‘ TTIFLAT WASHER 2|STEEL NICKEL PLATED M3
SCREW(SLOTTED AND
J 10 loross Recessen Weap)| 2|STEEL NICKEL PLATED M3X12
LOTTED AND CROS
? |LoCKING SCREW | 2|sTEEL NICKEL PLATED RECEsSED HoaSROSS
8 |FLAT WASHER 2ISTEEL NICKEL PLATED M2.6
7 |cLAMP SADDLE STEEL NICKEL PLATED
NOTE1.JAE AND PART NUMBER ARE MARKED IN RELIEF AS !
SHOWN. & |INSERT 2|COPPER ALLOY NICKEL PLATED
(EXCLUDING"™F2—1R"AT THE END OF P/N) 5 {LOCK WASHER 2|STEEL NICKEL PLATED M3
SCREW(SLOTTED AND
2. THIS DIMENSION REPRESENTS HOWMUCH THE SCREW 4 CROSS RECESSED HEAD) 2|STEEL NICKEL PLATED M3X6
PROTRUDES. 3 |HOOD B 1/|ABS NICKEL PLATED UL94V-—-0Q
2 [HooD A 1/ABS NICKEL PLATED UL94V—0
‘ B . ) _ 1 HEX NUT 2I|STEEL NICKEL PLATED M3
F1 HMROMBICHEBRY KL EXRFTT 5. F 5 % # B % # # i *
7L [—F2~1RJEEFTS AL\, NO. DESCRIPTION QTY. MATERIAL 7
-~ fE7%= (SPECIFICATION) B1R(ORIGINAL DATE). RE(SCALE)
2 2.2 THEXRTOBER)BERT, g 2005 101 | ;
m DR. ZH(TITLE) JAPAN AVIATION
ot GENERAL TOLERANCE
: e omevsion agorsey |SHE| YTAKKS! ek ooy, 1o, |
3% (DIMENSION) | £/ (ANGLES . A
g ) DC—C8—J13—F2—1R USTRY, LT ~
1 +0. 5 X°® = APPD, -
E .X £0.5 x°x'iD( ﬁpo, /W R&E&ES (DRAWING NO. ) K
o XX %~ RE(VMASS)
IIII|IIIIIIIII|IIII|IIII|I|II|IIII|IIII|IIII|IIII|.] | | | | | || ] l JAE CONNECTOR DIV. PROPRIETARY.
© .10 20 30 4 50 6 70 € %3 100 COPYRIGHT (C) 2005. JAPAN AVIATION ELECTRONICS INDUSTRY. LTD.




